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Cisco 650-159 : Practice Test

Question No : 1

How long does it take on average for new data to be available in WIRe for querying?

A. Roughly 30 minutes

B. Roughly 2-3 minutes

C. Roughly 12 hours

D. Until after midnight the following day

Answer: B

Question No : 2

What important consideration do you need to be aware of when using a Connector?

A. Multiple DHCP servers
B. Multiple DNS servers
C. Multiple break-out points

Answer: C

Question No : 3

What actions can a rule perform if matched?

A. Warn

B. Anonymize

C. Block or Allow

D. None of the above
E. Any of the above

Answer: E

Reference:
http://www.cisco.com/en/US/docs/security/web_security/scancenter/sc5126/WebFiltering.ht
ml#wp1058260)
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Question No : 4

When would PIM be most suitable as a good deployment option?

A. When the customer has multiple internet break-out points, and does not want Group
level granularity

B. When the customer has MULTIPLE DOMAINS with a SINGLE internet break-out point,
and does not need Group level granularity

C. When the customer has a SINGLE internet break-out point, and does not need Group
level granularity

D. When the customer has multiple internet break-out points, and wants Group level
granularity

Answer: A

Question No : 5

Consider the following ScanSafe deployment

A customer with two sites (A and B), each with their own breakout point:

They have static IP addresses, and each site has its own Firewall.

The customer has configured Port Forwarding to simply forward all web traffic from each
Firewall directly to ScanSafe

Which of the following two policies could apply?

A. Global White lists and global Black lists across both sites

B. Separate White and Black lists for each site

C. Custom access for a specific group spread over both of the sites
D. Custom access for a specific group based at one of the sites

Answer: B

Question No : 6
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When creating a new Rule, how many filters can be added to the Rule?
A. Unlimited
B.3
C.5
D.1

Answer: A

Question No : 7

How can AnyConnect be bypassed by a user when installed locked-down?

A. When locked-down, AnyConnect can be bypassed by a user by changing the Browser
Proxy settings

B. When locked-down, AnyConnect can be bypassed by a user if they know the admin
password

C. AnyConnect cannot ever be bypassed by a user when installed locked-down

Answer: C

Question No : 8

What availability has ScanSafe maintained over the last 7 years?

A. 99%
B. 100%
C. 90%
D. 95%

Answer: B
Reference: http://www.scansafe.com/networkoperations)

Question No : 9
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If navigating to www.bbc.co.uk when browsing through a typical Web Proxy - Which one of
the following performs the DNS query?

A. The DHCP Server
B. The Client's Browser
C. The Proxy Server

Answer: C

Question No : 10

How are different time zones supported by WIRe?

A. Each entry is converted to UTC as it is stored, so you can select any time zone in the
GUI when searching and see the times according to the user's local time

B. All entries are recorded only in their local time zone, so you need to calculate the time
offset when searching for data of users in different time zones

C. There is no support for different time zones in WIRe

Answer: A



